
GUJARATI 

(Maximum Marks: 100) 


(Time allowed: Three hours) 


(Candidates are allowed additional 15 minutes/or only reading the paper. 


They must NOT start writing during this time.) 


Answer questions 1, 2 and 3 in Section A andfour other questionsfrom Section B 


on al leasl three of the prescribed lexlbooks. 


The inlended marks/or questions or parIs ofquestions are given in brackets [ ]. 


SECTlONA 

Language - 50 Marks 

I. 	 Write a composition in approximately 400 words in Gujarati on anyone of the topics given 

below :-- [201 

"{l~ <>1.t\{(-l.l (Crl:tt{tltL~1 ~'l\S\{l?l ~.!J (Cr4.4. \{< <>1.l~t~ 000 ~luilltL J l"ll'~l l'illti l-i<>i.~ ({vtl :­
'" 

(9.) 	 '>tt,'l:tl?l =btl"ll'-il (tlt4.ltL <tl~l ltl21 (tlt:c4.l 0' ct.-il ~l~l?ll, ct. ~~ ~Nl-il Q\{lt{l ct.~l 

(-tl~"a1.J!rct. ltl2 ct.ltl~l [q~li'l Ultq't. 

(~) 	 ~'l8 ~~ <>1.\{Jl c.l{~t"{llt({l!llct. - ctl?tq't.
'" 

(3) 	 '2~·-t'tc{1~~ (>IHct.-1. !l812(~4. 7b1l1.~ 0' [q<Hl?l ~i'l. 

(0) ' ' -iHl "ll'J llti ltel-i 0'. - (tltl"ll' t{,!,ct.~, =<tl?lct.~ <>1.-1. C:l~U'1.lti -il~l-il ~lull <>1."I?t.!. - d.~·i\ 

Q(-(i Vi. !l ~ rtl l-i <>i. ~ ({Vi.t. 

(\{) 	 ct.lt-1. Jlltct.l .~t8 ~~!l Q('~C{-ct.J.c{H-il Q"6ql?n, lte ul 7bl-1. ~t~l'i <>1.l2tVi.-i ~il. 

(E.) 	 '1.1~ 7bll\{({ rq'l:tt{llti~l !l'l8 ~.!J \{~ >-lllc{!l c{lct.t ({vtl :­

(i) ,It-i"4 7bt "ll' 0 06 It-i"4-1. ~ llt ({l J'l.' 
'" . '" 

(ii) ...... . <>1.-1. ~ <>t=<tl Jl8 ....... 


I Read thc following passage and answer in Gujarati the questions that follow, using your own 

words :­

'1.1~ <>1.l\{({ \{R~9t-1. I:4l-i'41 C{i~l ct.-il -il~ <>1.l"Y.({l >t-3i'l-il 6u~ Jl"ll'~lct.llti ct.ltW ~l&7~llti 

C1.y"l :- -. 

~L~ Jl:(:>~U1.lti 4l?1l <>t~L [qt.tl'l.rr~"tl 7bl(>l{L(t !l<ct.L ect.l. ~l8 7bLltl< ect.l, !ll8 (tlltl~ ect.l rtl 

!l'l8 Jl~l<>t \{l?l ect.l. <>1.l~ 7bl(>l{m..tl <>tlctlt !lC{({ ect:'L. <>t~l [qt.tl~1~l \{' lct.l-iL q~ "tc{l ltl2 C3('~!l 
------------------------------------------------------ ---~------- -- ----------------------------------------- ----------------
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~ 6) 1flt ~l~ r"5 \:.l~hll<t 1cl~ tt ~ ~ll<c y"5 ltl1~tJh t.1l:1Leh lt~l<c (h) 


~ 'Fn1l<c 1~H, 1G ~I tJ ~ ].-)'3)<) 1 b b ll<t l)1.!t (J<, ) 


~ lhl~ Zllt 115 tm1tJ ll--Llll)<) eh mIt) \-)l?''\<t 1-?-)0 (€) 


'l?~~b ~ lY~ lP1: leeR (c) 


L lhllIG~ll<c l~G ~~lc ~lt~ Ll]JH ~nwl<c lmltJ lb~ lltln~~lc (1) 


l~K 
'­

'0 ~h1l) lb~ IbH lk~ lelF ~ eh~h P~h l~n,) 

~h'lt> Llt~""0t lb~ lbH llc~ emh 't">'It> ~tlll.!-) 19c1}<l ~hlll ~1-)~1l L16bl'1t>5'>lG lbtc hl16l--~19cL)<) l)'Lh 

l}l),h ~l21hll<c 'teL61 lTYe ~16 emh L16~ltlceR U2l19cltt ~l<t Lel~~ Lh£ l--b<Rtl l~h 19h1'\<t 

,,"lP~ 2~ gIlt ~ Zllt l~lt) lellt llnlbll--blhl 1}-lbell '3% ~19cU') '11J~ H-)1;lllh, lhJ 9c ~ ll<tlCrt 

~ w~ l~Leh Lellt]J 9c ll<c ll '~ll ~l~lt) ll--l]Jth ~~lc W~ l!'tnL~ Peh .L~l--emh ~ ~12lelll 

lhk lJh ~lt~~ll<c l~)<) 9c 11J~ lemh TR~lll el~1') le'lnh ~Lhll--ral~ IltmLh l~mlt) 

,,'bl]J1') lU" ~ 0 1M tc'lnh ~" ');"'631. ~<Rtl~lc 

,, 'I~U-) lJlhE) l~mh ~ 11-)~h )ltlPH ~ ~llt ~ hl16l-­

l)Lh ~D'-ltllCllt ' 1~16 l)'Lh lah ~~ ~l<t l~klb 121h ~kltl19cLI') 11Jbll<c ln611h Lellt l~mh ll<t ~ 

~l'h:l() ~ 1!?te Den·) Ib16 l)'Lh 1')1'1. ~ltt l~clb cmh el'3el~ l':-)~h lltlPH ~lt 'lJ-l~ lnkll<t L161~ ~ 
'6) l'h:m ]JIb lrlt~ <Rtl~lc 1~1I '~ll 19te lJ-l ~"'63h ~~ ll<c ~mlt) 11-)1;1l<c l)'tlt m~ ~<Rtl~lc 

,,'tPI'l l!n DalP l~mh 11-)~h 
llt1c~R ~ 'thlc L~e ln61lh l161~ te ~U-) ~Llt1ht lr~ 121h lJ-l~ lnlcll<c l161:c 116m.!:] 1':-)1;1l<t 

ts'l]-t ll<c <Rtl~lc" '~ll l]Jhll<c )<)lb9c ~mlt) rite lJ-l ~"'63h lbelll ~lb~~ ~<Rtl~lc 'lhcm lb~'1'l ch 

ll--~ 1~1') 'l!r.'ll<c el~)<) lr19c1be'3 1l--1c~R mIt) ll~ ~hJ l}l~ })l'h: ]J"L'h:]Jlb ll<c 'l]J~ ll>Je tH ]JIb 

lrb'lt>t.l't llhl'3l)Lh ll--l]Jth]Jth 1~1') 'l]J~ me L61h ~l() bhl~l<c 1l--1c~R ll<t ~1~1') <Rtl~lc 
'lhfllllr el~l') l]Jl)'k1-) l]Jl)'1c1-) L16~lbn UIo1}<l 

ll--k~l-c ~LH It ~lt~ l~)<) 'P~ Plnllll--121h L~l':-) ~lt1ch ~l<t 1Y~ l}l16 l)'Lh )<)'tt 'lhcm lbklb 

c'lnh el'3el~ 11-)~h ~Ll--~ltkh ll--l~l'l lJ-l ~hJ lhk lnkll'l: l)'l~ 'l]J~ ll>Je 1P-b lJ)1cll<c t~ F 1~1') 

'~\~l--~1111G S~~ ltlh ~l]-t t.,19cL)<)lltc 'P~ ~1~1<1: el,h n~ 'lh16 1-)hl'3 lhlc~R l~)<) 9c 11J16 M~ 
'~lill lql1<1: ~1111') lJ->lbH lG1;'I\ ~lt1c~R ~1<1: lhk 91-) tc1h UIolbe'3 ll--keR ~l~)<) <Rtl~lc 

1( '16~~ ~n Lellt]J ~0 UIoll') n'kel-c ~ '6) t.lblnll~ el~1') 1~~0 19cL)<) ~l<c 0 tlb~ 
emh L16!ltk~R Lel~l<t lite 9c eleb 1h'th 9 fi )ltkh tel~1') ~lltl-) '6) lP't"> mgh It l2])'l: lltt ~1l'1: 
oL~U-) t1<1:1l:lLeh U21h Lellt]J ~ l--lhltlC'3 ttlhv1<1: lCllt\-l '~ttb~ 1':-)-)611~llt]J ~11<1: lltln~«:lc 
11<1: 'l,m.lt) 11-)11'1:> lCllt" ''full ~l<c 1M ]J~)ll'tt l[lht lite ~l!'tl16m~ 9c l~)') te<Rtl~lc T).YI'l 



:1 . (a) Usc the following phrast:s and idioms in sentences ofyour own to i lIu.strate their meaning: 

(AJ1y-4) ;--­ [4] 

('1.) ~l'l!l =<t -.<, ql 

(~) ;,l21 l.U'j, 

(3 ) 13(-("1.[ -'Um (iell 

((() qllJl qi~'l '1 ~q'l 

(1.{) >t12 l-ti-.<,ql 

(r;) >tl~ 1~llq~ 

(h) (Jive one word for the following (Any-4) :-. [4] 

~ll:il.'1l ~l<>t..<-t.~e lil2 ~l' ~l<>t.. ~ll1.{l (~'lt51.{~l ~l:() : -

( 'l ) 'i:)l ~n t{ '1~t?\ 

(~) ~nlt( "ltl-l 2tc;i 

(3) 
r ",' .... ... 

~l';~'; ~'1 ~n (~2~l:)llS 

C~) !!llictll ~lli1 q {It 

(1.{) ii ~(-<{ ~i.lll '1 ~l';lt( 2tc;i 

(c;) 1.{~~ 4-S'Il~'l ';l~l:)l~ 

(c) (Jive opposites ofany four words:- · 
[21 

'11i{ r ll ~l<>t....tl (Cp.141 ~~ C"1.u{l (.;lt51.{~l ~l:() :­

( 't ) ~lifct (~) Oc<-t.ltl-L 

(3) }{ct(1lt ((() lrw[('tl-tL'11 

(1.{ ) >tmu (s) :)l~lun 
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----------------------------------------------------------------------------------------------------------------------------

SECTION B 


Literature - 50 Marks 


Answer any four questions from this section on at least three ofthe prescribed textbooks. 

Jl~ ~<t4 
(GADYASANCHAy) 

'-I. 	 "~2('I.ll-tl ~l.U~ll t{:(l-tL~L ~-' ~ll6-S~ q~·-H 0'l-,:(L <>te.l:( ·-H-'UlL [q'ill.{-':(lq.'t oi1\S.1. ~bS~ 

'-W_9L ~S:( ::>lO .'t ~l.{l."i ,,~ : '~l.{l SlU ! <>te.l:( rt'l -,'lO-' 6t~ 0." 

('1.) ~l6-'G~ ct~'iL f.91-,:(L"'l~l e.ctl ? ~ ~l.{l."i rl.{l ~ ~ -,:(ctL ? [1 Y2] 

(:() ~l.{l'il t{:(-1, :vtlJl~~ 1<1 e.1 ? [J] 

(3) 	 Lq'ill.{-' :(lct'i'l ttR~H :vtl'-tL-,e.'l ~.-tl il"/)' ~i"/)'.-tl L'irl.{~l-t ~ e.ctl ? ~ :vtl06:r<l.l -'l:(~l ~l.{l."i 

l-tUlctl :vtlCl-{'l e.ct'l ? [J] 

(0) 	 ~l.{l ~2(i. "'l~l ? ~ ~i -,ll-t -,:(ctl ? ct."i 'il":(Ll-tl~L (I{:(ct:(q 1l-t -,:(ctll-tl :vtlCl-{'l ? ~l ~lil ~ 
~ 	 ~ 

'ih~L 0'l~l 	? ctl-tl:(l "/)'ctl<>t."i ~l-t~'i ~ll{l. [5] 

5_ 'ctlhlctl-tl l-tlctl.--t vt~ ~iH-, 'il'il <lU8'il '-thllc{ll-ti :(tl(-1. 0' :Q'l ctlct."i (i.vt1 ,,0 :(L21. "l-l(-1.qLl9 ~ 
~ 	 ~ ~ 

( ..... "\ "\. "\ 

c{lctl'i ~ll4H ctl-tl~l ~lC>tll-tl ~~ -'~l. 

o 	 ':QlJU114.' l-tl (-1.~lT~-' 'il[!{-,l'il (-1.~ (J11Sctl~."i ~0(-1. 1Ail ~m Cl-{!rct ~ctL ct'iL [q~l~4.l:(l Cl-{!rct 

!J(.'t. ~l'4 'ill.{-''iL ~c{'i [qihL ~(HiqL s~lh't. (12 '/z] 

'{~ ~<t4 
(PADHYASANCHAy) 

7 	 "e.l "'-thllC{\ [q"i(-1. .)H~l (-qJl~L Glctl{
~ 

1.9. 


'-tl '-tL ct l-tl ~(I{-'L S o."i 'iL?l.{ ~ IIun <>t."i 0. 


"'il:(L _~SL 'i L.--trJLt ; 'il:(L ~M 'iL vtl~l ; 

'il~L'4L 'i:( 'iL'-t"lfl.{l, ~ct 1A~lS ~l-tl'i." 

(9.) '-tMlct'l ~t2~ ~ ? ~ll-tl~'-til '-thllC{\ ,,'l."i ~ll.{ 0 ? [1'/21 

(~) 'il~L :(M'il vtlQl ~2~ ~ ? 'il~16'-t~ ~-' -,tlctct (-tvtl. [31 

(3) 	 '-thllctl~l 'ilN~llUll <>t'iL ~l-'ll.{ ct ctlct ~" (Jue.~L2l :vtl'-tL ~l-t"6lct'L 

(0) 	 ''il~ltil 'i~ 'iL'-t"lfl.{l' ~l&€l ~l:(l CLtb-Q ~ctL 'il~L'iLl-te.l'ictl :vt."i 21.1 ~l-tl"6l-ti 14 ~l'i tilci 

oil o~ ct ~'-t"-G -' ~l. [5 J 
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[v,ell 'l~1I ~1h,1l<t ~ lI'2n... ((~l~lCll<Jll-)-)~" 1->"h1;?1l<t ~~M:l1->'2h ~ lCth~1...' l}->H 2,"K ,U.jbFt~, n-'hl-)l~J -.; \ 

[7/,el] ·l...bl9.,l-tR elb1?1l<JP 12 0~' ~lD 13~~ h6? 121~ ~li 1,2l-)h 

"Rlli~ htl<-1.1M: l:-Lh,~ M~lb Llohbel~6U 11->lP~R -"hhRI'l l-)~1o 1>l1l-o ~l-tLli]!jtt ,ef;lYc1.?tf;,\> \ 

[~] ·l...h~Clb ~l-tl...3<116 lCll-tlJ ~ (, 0 ~lf f}JYl-o He ~li Ft1,:t 1:-1Pl...h L'h\~ ~m e~'p~h 'tM: l-tLlv (J.) 

[£1 (, 0 'tli Zll-t 116 'tM: ~1M 'btt ,0 L!iH<J h, ~h:CJl-t l:-l-tn... L'3h1?, 'tb ~I'lR L'3h1: (£') 

[£] (, hlc ~1o ~1~ Zll-t 116 Unl-t 'tOh1? 1->l-t ~1->~M: (e) 

[~iI 11 L LPI'l sm21~ 't15 lPlih6b1M: lr1"hR (, 0 'tli Zll-t ~15 1b15 ~E) lrehQ (1) 

" '1-> l-t ~1l-t L61 h 'tM: 

1->l-t t1P~ lP1l-t 'l§l ~ l<.hf~h lnb1: ~P · ........ ·1PlC'th lln1l-teb 'tl-tP ~ 'tM: lhli h,l? h-(Jl-t ~P 

Ll<.hf1h '0 'f:>tli!6 1~~ he\lv~ l1->Lm"'1Ptt t~e 1PlihGblM: l}-"l"hR 1C1h L61h ~hh:1h -'1:" -~ \ 

(ODINv){3 IHOlNIl.\>Cld VN IGOl!\! !1NUL)) 

1~lJ1q~ l:l]~lj~ lHJ1:!t ~~ 

[Zile!] ·l...bl9.,l-tR Lh1M: l()el'll'3Q 't 0 1.!n!:-tt1li~1;? Hf; l"pL"h~ thli 1l-t1->~b 

n-.1->~1->'3~ 'tM: 16~h '31l<J1l-01M: 11->Ue~lv161l-t~l<Jh;, 1"p1'l 1.?~ tlilB t1->1->b(R;3lCl-) l1->16~h ~M: l1ellv16( \ 

[Zill!] ·l ...hl-) 1l-tl...3<111; lCll-tP (, 1Jh: S'Lh: 12l<Jll<J ~li 

~li ch ~llv~e P1c"3R 't16~h (, ~li L9j1-> ~lbhl1<c ~llv l-t£ 't16~h ~~1->'3~ L61h 61eh61h ~li ~li .\! 

[~J (, ~e1l-) 'f:>~ b-l~lD ~1->'3~ 'tn~h (, tpl'l 1P~ PWll-)h lP'th l}-"1->~1->'3~ 't1<c 16~h (J.) 

[£] (, ~I'l 'f:>1: lC1eblP1b ~RlhRl1<c l}-"12 t1<c eh 12 l!ttl~h t1hl ~ 1b~ eh 16~h (£') 

[£] (, PI'l Plc1l-) b1: 1->b@ ~~l<J~ t16~h (e) 

[~/IIJ (, 1"p1'l 1!c.>11'l: Zll-t 116 ~h-l 't1516~h (1) 

,·1...lt3e ~~ ~lR: l}-"tt L101hlc1C1M: 16~h 'tell-) 1-> l-t1e1M: 'tUnlvlR: 

tt 'tRl~ll-t '~I'l 1J1c1l-) 16]li 't1<c ene1h, b~ el!jl~e 11->P1h, l~h h-Cll'l ~tt '1Jh U~1'l tp~1...M: tt,O \ 

(I1V~ I1VHONVV) 

,1}-)k Un111ltt , 

[Z;,l!J '1...eli ~e ~l-t1...3<11G lCll-tP PtJR tP1 Cq,? tl-tti 

S'~M: 11->,1}-"1->~, l-)1?1ab ~li'3];?l!<J l(Jli (, 0 Lbl1<c ~l-t1b1~1c tp1h'Uh: L1011->1! t1619Ll-t l}-"htiP1l-t 

[lil l I1 'l?1~b ~1h,11<c tl-01li ,@lC ~l-tll-)21~, 12 (, 0 l?lv):.1<c 

lYCUCl1ell-) U6 1!l(J L"h etl-) t1<c PUe 'L"h~ ~li 11->b'h)~1<c liJP Lbtt ,~l-t !Clh, 1P61 l[ll-t hlo -g 

-6 
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